
j*f g+= 3                           s'n ah]^ ? 69,61273.– 
 
s_ k"jf{wf/ lasf; tkm{ 5033000.–                                                          gd'gf of]hgf ? 1400000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 df^f] efF*fsf] ksfpg] cfw'lgs e§L lgdf{)f j*f g+ 3 1400000   
  hDdf   1400000   
law't tkm{ ? 500000.–    
qm=;+= of]hgfsf] gfd :yfg  /sd s}lkmot 

1 5 yfg kf]n tf/ v}/f j*f 3 
500000 

  
2 10 yfg kf]n tf/ ;'k}nf j*f 3   
3 12 yfg kf]n tf/ /tgk'/ / w}/]gL j*f 3   
4 10 yfg kf]n tf/ v}/]gL j*f 3   
5 15 yfg kf]n tf/ uf]a/l*xf j*f 3   

  hDdf   500000   
;*s tkm{ ? 500000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 

1 3 yfg xo"dkfOk v}/f  
500000 

  
2 5 yfg xo"dkfOk v}/]gL   
3 12 yfg xo"dkfOk w}/]gL   
4 1 yfg xo"dkfOk ;'k}nf   

  hDdf   500000   
5 af^f] u|fe]n / sNe^{ lgdf)f{ ;'k}nf 616500   
6 lg/g/tf kSsL gfnL /tgk'/ 600000   
7 gofF ^«ofs vf]Ng] w}/]gL 410000   

  hDdf   2126500   
vfg]kfgL tkm{ ? 5165000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 vfg]kfgL la:tf/ w}/}gLdf 706500   
  hDdf   706500   
k|j${gfTds tkm{sf] ? 2028273.–                                   k"j{fwf/ tkm{sf] of]hgf -km'^s/ of]hgf_ 1217000.–  
;*s tkm{ ? 300000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 cw'/f] sNe{^ lgdf)f{ uf]a/l*xf 250000   
  hDdf   250000   
ko{^g tkm{ ? 200000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 rr{{ lgdf{)f / dlGb/sf] lh)f{$f/ dd{t x+z]Zj/ dxfb]j uf]a/l*xf 125000   
  hDdf   125000   
v]ns'b tkm{ ? 50000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 o'jf v]ns'b ;fdfu|L vl/b j*f g+= 3 100000   
  hDdf   100000   
l;rfO{ tkm{ ? 25000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 s'nf]df jfn lgdf{)f v}/]gL dndn]sf] #/g]/ j*f g+= 3 100000   
  hDdf   100000   
vfg]kfgL tkm{ ? 50000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 df]^/ vfl/b j*f 3 100000   
  hDdf   100000   
;fd'bflos ejg tkm{ ? 242000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 ejg tyf rkL{ lgdf{)f dfwjk'/ 121000   
2 ejg tyf rkL{ lgdf{)f v}/]gL 121000   
  hDdf   242000   
lzIff tkm{ ? 300000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1  dd{t uf]a/l*xfsf] /fqL :s'n 100000   
2  dd{t ;'k}nfsf] :s'n 100000   



3 cjnf]sg e|d)f ljßfnosf lzIfs 100000   
  hDdf   300000   
 cWoIf k'FhLut ;'wf/ sfo{qmd   300000   
k|j$[{gfTdssf] nlIft sfo{qmddf ? 711273.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 

1 afnaflnsf tkm{ 15k|ltzt   204227   
2 dlxnf tkm{ 5 k|ltzt   101409   
3 cflbaf;L hghftL 5 k|ltzt   101409   
4 dw];L ÷ d'l:nd ÷ lk%*fju{ 5k|ltzt   101409   
5 h]i& gful/s 1 k|ltzt   20282   
6 o"jf tyf v]ns'b 5k|ltzt   101409   
7 blnt 2 k|ltzt   40564   
8 ckfË   40564   

  hDdf     

 
 


